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01 At 22/l 31,200 31,200 0
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300,000 +7H £ 2 2,100
Ogt=&H| 24,000
sgoy 8X2 XNA(EX) 350,750 384,100 A 33,350
< 87,688
Al 263,062
301 L2 A= 350,750 384,100 A 33,350
= 87,688
Al 263,062
02 Het=Lstit= 350,750 384,100 A 33,350
Osgelitd sia X 350,750
< 87,688
Al 263,062
O =OHE(2X) 236,250 229,500 6,750
< 52,500
Al 183,750
307 21201 A 236,250 229,500 6,750
< 52,500
Al 183,750
02 QIAFLANGFEX 236,250 229,500 6,750
Od=sgody 22X & 236,250
< 52,500
Al 183,750
SAUBXXA(EX) 531,424 314,690 216,734
< 209,568
Al 321,856
201 £B-2dH| 94,260 94,260 0
< 18,852
Al 75,408
02 3323l 94,260 94,260 0
Ost=sFLEES 19,500
< 3,900
Al 15,600
OB2=0{RNRES 74,760
< 14,952
Al 59,808
307 21201 A 437,164 220,430 216,734
= 190,716
Al 246,448
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307 gl2tol & 25,000 0 25,000
= 25,000
02 IZHE M AHE L 25,000 0 25,000
OXXH sEMsLis XA 25,000
= 25,000
sHI| SSSAXNE 26,400 0 26,400
< 7,920
Al 18,480
402 RIZEX 20| A 26,400 0 26,400
< 7,920
Al 18,480
01 It 2 AL B X 26,400 0 26,400
Os8ll S2ss4X3 26,400
= 7,920
Al 18,480
HE=gel MY 262,000 0 262,000
= 78,600
Al 183,400
307 21201 A 262,000 0 262,000
< 78,600
Al 183,400
02 IAHFAAFE X 262,000 0 262,000
OOl& =20l MMES 5 X & 262,000
< 78,600
Al 183,400
sXzel2d N 52,115 52,115 0
J| 46,115
Al 6,000
sXzel23 X3 6,000 6,000 0
202 O4dl 6,000 6,000 0
01 2LHO! 6,000 6.000 0
OsAzelg: =2 6,000
s (EX) 46,115 46,115 0
J| 46,115
101 124 dl 43,115 43,115 0
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J| 43,115
202 odl 3,000 3,000 0
| 3,000
01 = LH Yl 3,000 3,000 0
OsXolgacdRF=& ol 3,000
| 3,000
=&J|& 57,302 0 57,302
sSHEaAsSEA 7,302 0 7,302
201 Let249] 7,302 0 7,302
02 8323l 7,302 0 7,302
OFUALSTZAAE FXE |
608,438& 1201 & 7,302
S AL 50,000 0 50,000
307 21201 A 50,000 0 50,000
02 B AAFEX 50,000 0 50,000
OsZANH (12165 CEOSH )HAEE XA ALY
5,000,000& x10H 50,000
=%, s& Z2¥H A3 32,909,318 31,961,424 947,894
= 13,144,087
Xl 6,561,463
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< 1,166,522
Al 11,994,992
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< 15,000
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X 230,000
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Al 99,000
01 A& Hl 326,632 0 326,632
OFd =53 3A0s ZEAY
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X 228,642
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O2sEdHEN ZTA MEXE 30,000
OfAS CHESHALY 50,000
HEREAEILXE 1,450,000 1,450,000 0
402 RI2EX20| ™ 1,450,000 1,450,000 0
01 B2t AP E X 1,450,000 1,450,000 0
OHEIE A& Y XA (172,629& +10,500na*
80%) 1,450,000
HAMATY DAL (BEX) 681,674 908, 320 N 226,646
Xl 10,000
< 334,837
Al 336,837
301 LB A F 477,674 474,680 2,994
< 238,837
Al 238,837
1MIIEELES 477,674 474,680 2,994
ONESE AL
200,000& *2,388.37ha 477,674
< 238,837
Al 238,837
307 21201 A 30,000 26,000 4,000
< 15,000
Al 15,000
02 QItFAAHE X 30,000 26,000 4,000
ORYSIH MBSEXJAAY  2,000,000& *15ha 30,000
= 15,000
Al 15,000
402 RI2EX=20| A 174,000 407,640 A 233,640
Xl 10,000
< 81,000
Al 83,000
01 It 2 AL E X 174,000 407,640 A 233,640
OL272 E2& XNIAAZ
10,000,000& » 155 *x60% 90,000
< 45,000
Al 45,000
O=228AHX)| NEAAL 15,000, 000& *8CH x60% 72,000
< 36,000
Al 36,000
OBHA=D| NEAY 4,000, 000& *5CH *60% 12,000
Xl 10,000
Al 2,000
gAMRSAE 1,000 1,000 0
301 gt 4= 1,000 1,000 0
09 SAAHIEA S 1,000 1,000 0
O ZNEHA F4& Bo3 500,000 *23| 1,000
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=z N H
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Al 18,648
01 QIZEXIE2AIE 2 X 44,400 0 44,400
OsJIH N SSHE XA 44,400
= 17,760
o= 7,992
Al 18,648
HEM Rice-up Z2HE (EX) 201,500 0 201,500
Xl 155,000
Al 46,500
402 SI2FXHE0| & 201,500 0 201,500
Xl 155,000
Al 46,500
01 A XNSAIEE =X 201,500 0 201,500
O0l=zsedeld AlE e
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Xl 155,000
Al 46,500
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= 5,940
Al 13,860
402 12t XHE0| & 79,200 0 79,200
= 59,400
& 5,940
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O0l=sedeld AlE SUsHALY
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= 59,400
o 5,940
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= 14,500
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Xl 1,251,000
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o=} 600
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01 2L I 4,000 0 4,000
OsEZS M XNEALESAY 4,000
N 2,800
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401 AlEHIZL 2 0HY| 1,184,000 0 1,184,000
Xl 828,800
= 177,600
Al 177,600
01 Al&H| 1,179,740 0 1,179,740
OsEsaXE X2 (2E) 1,179,740
Xl 825,820
o= 176,960
Al 176,960
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